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a) la=1x10""=1x10"°x10"* =1x10°yolm=& ( )=¢6o0|C}.
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(a) 125] = 125 x 10° mJol@& ()= 125 x 10°o|}.

(b) 52000hm = 5200 < 10" *Mohm = 5.2 X 10" * Mohm©o]2&2 ( ) =5.2x 10 ®o|c}.
(c) 0.17TA = 0.17 X 10°uA = 1.7 x 10° pA o]22 ()= 1.7 x 10° o]}

(d) 0.016mol = 0.016 X 10* mmol = 1.6 X 10' mmol°o]2& ( )= 1.6 x 10'o]C}.

(e) 620cd = 620 X 10" x 10° ¢d = 6.2 X 107" Gedo] B2 () = 6.2 x 107 " o]r}.
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x = 1800|c}.
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(a) 121.371 = 21.37
(b) | —2.87] = — (—2.87) = 2.87
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_ . | =72 — (—68)] 4 1
A | — — (= = 40|71 A} L = =_—0
(d) A Qxt= | =72 — (—68)] = 40]1L AT A= 73] = T o}
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pS| L 17 — 0. = (0.020]1 At r = = —o0
(e) ArhoAbe 10.17 — 0.19] = 0.02012 AT@AHE 5 017 = 17 oI
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(b) 38R HEXAL ThE ABISQ 72 whedsto] 136000]ct.
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(&) 29 FERA B A4 25 wEstel 6.90]c)

(e) 3WA] SE5A ohe ARSIl 82 whEsto] 0.0009030]}.
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(e) UeAlo] Amt= 9 g5x} 27H2 LtERojof tm2 13.31+4.8=2.77291.-- =2.80]|c}.
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(@ V-3 V-3 =+3iv3i=3i>= —3
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() ¢ -d=(—2)x4+5x (—3) = —23
C)e-f=4dxb+4x2+1x3=3l
(d) g-h=1x4+(=2)x0+0x(—5)=4
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10.1

(a) A= 1x28HolB g m =1, n=20|C}.
(b) B= 1 x58Ho|lB2 m =1, n=50|c}
(c) C= 3x18Holu 2 m =3, n=10|}
(d) D= 3 x2388dolu g2 m =3, n= 20|}
(e) EE= 2x4388Ho|B 2 m;m =2, n = 40]|C},
(f) F= 3x38"8olO02 m =3, n=30|C}
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(@) g(0)=0

(b) g(=3)=15

(c) g(h)=2R*+ h

(d g1—h)=200—-h)*+ (1 —h)=3—5h+2h°

() g2h—3)=22h—3)"+ (2h—3) = 8h* —22h + 15

(f) g(h*) =2((*)*+ h* = 2" + 1

11.9

(@ (f o flla)=a+14 (b) (f o f)a)=9z—12

(@ (f e f)@)=(@"+57+5 (d) (f o f)(@)=(B(3z—4)"—14)
© (f « /)e) = 2 O (o £)a) = 11)2+3
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